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Dhol .
A) pf‘yf Combined Cycle Power Station is operat
Nevyveli Lion . § peratedby .
® R tLignite Corporation India Ltq_
© R‘:!(\Sthan Sta.te Mjnes and Minerals [ tq.
) ,\‘;:it.};;m I‘ia;y:\ V ld.yut Utpadan Nigam Ltd.
®) Ques tPower Kawai
‘ﬁ?rg'( ~ue s.tmn notattempted
iy AT WfRe %%mﬁcrﬁ?f@affaﬁ;,—ga;gmﬁmﬁm%?
b TR e o s fafis
>
oy TSR T e sk @f fefig
TSR T ferega s frm ffinre
®) i v
S
-~ Who has bee . :
@A) hl‘;}:\c;\ appox'nted as the first woman High Commissioner to India by Britain ?
© L (l:lnasel\ar B)  Gill Atkinson (©  Alicia Herbert
¥ mia ;meron (E)  Question notattempted
(‘j/ ﬁmuwvﬁmﬁm@aﬁﬁwmw?
o) 'E“E“W B) o i © ufafam s
N ‘ At et ()  TuRd gwA
3. S:\'t‘n below are two statements : s
atement (1) : F:Trs:e Primfe Mixﬁasl,:er of India wished to achieve the objectives of Foreign Policy through the
strategy of non-alignment.
Statement (1) : India l\ivas ne\t/er trying to convince the other developing countries about the policy of
‘ non-alignment.
I: the light of the abqv? statements, choose the most appropriate answer from the options given below:.
(A)  Statement (I) is incorrect but Statement (I) is correct. -
(B)  Both Statement (I) and Statement (IT) are correct.
(©  Both Statement (I) and Statement (II) are incorrect.
(D)  Statement (I) is correct but Statement (II) is incorrect.
(E)  Question notattempted
= < e Ry E :
U (I): m%umuwﬁﬁ%ﬂﬁ%maﬁﬁﬁﬁw%%mm@mmm of
wHEA (1) : \'Wﬁmiﬁm%aﬁﬁ m‘mﬁa%@ﬁwm%m WRA 7 o T T e
I HYE F mﬁ, A e T foshedl # 9 wad Suge 3w g |
(&) I () T 2, A e (1) we e
B) WU (1) ST (1) = E
© Y (1) SRS (1) S e €
@) e (1) FE E, A we (1) e ¥
4 Who is the author of song ‘Dharti Dhoran Ri" ? )
(A) Kanhaiya Lal Sethia (B)  Vijaydan Detha (©)  Allah Jilai Bai
(D) Gavari Devi (E)_ Question notattempted
‘et € T S TR (erae) wE E? ‘
(K) e At ®) fasraRm g © o faers e
o) e 2t (F)  srafa e
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Given &}0‘(';:)&!‘(‘ BWo Statements -
ent : Veer Qe ‘ .
e \\:;;{: ;;\\irkar t‘fm"‘i an oTganization nanvad “Mitra Meda' dunng the parbition of Beogal
gatement (ID: Britich . § ?‘Nmnns arud made a bontire of impored clothes
Indemerp rment had imposed 2 han on Veer Savartars
n the light of the above Pendence” before fteould e publishad.
V€ Statements, choase the most appropriate answes fron
) Statement(l) i< false but Statement (1) is troe i
') Both Statement (I) and Statement (D) are tnn‘:
Both Statement () and Statement (I1) are fakse
D) Sh@ent (D) 1s true but Statement (lt) s false .
B Queston not attempted )
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ook, “The Intian War of

\ the options given below
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= VA,B.C,'D,E, F, G and H are eight friends sitting arou

B wE() SREwm I ass il

O = Q) S () [ T

D) T (1) 99 &, e S (1) 9

B/ EERa T

nd a cirdle facing towards the contra, ot nevessanly sawe
neighbtourof Eor D Fisonthe immadiate right ot Band G

order. H jo on the immediate left of A but His not the oar of E.
isthe neighbour of E. C is between E and F. What is the pasition ot & ?
(A) ‘Immediate rightof D B Secondt the ightof F Q@ Thicdtothenghtot?t
D) Immediate rightof A ® Qaesb‘onm\tamv,pk\l . \
AB,C,D,EFG¥RH s &3, @@?Wﬁ&*‘%ﬁﬁm?m%% SREE W I FR AT
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D amgewE @ Saeave
5 The life history of the saints which is available in poetry form in Rajasthani ‘“‘“\\‘,‘\*\x\' N kmownas, = :
& Parchi | ®) Vaat Q Mamall o F
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13.
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Cherne e mesnt zppropriste option from blow)

(A Frdssssbies (Z) Poorconditionof farmess ©
> 4 gricnre (£) OuestionnotaBern

‘T i ey, Au e E______E g me A
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Which place of Sikar z1ez #s f2mmous for goka industry 7

(Choose the most zpproprizte option from below)

(A}  Nechwa ) Xhoor ©
()  Khandels € %ﬁon not attempted
Tz isEmem T En R et

(Fo=¥somgzmm )

(4 f===n @ =F ©
G ZETA E) ZFFFAaFa

In which of the following cities of Rzjasthan Mahindra World City is located ?
(A) Udaipur (B) Jaisalmer ©
(D) Jaipur () Questionnotattempted

T T reer s e i atEErm i fem g

([ﬂ =A% (B) ‘%77"—’[‘:37 (Q
What is the most appropriate synonym of word “Sociable” ? :

(A3 Inhospitable (B) Bankrupt ©
(Dj Friendly (E) Questionnotattempted

Given below are two statements:
Statement (I): Fishing can be done only in freshwater ecosystems.
Statement (I):  Fish is a cheap source of animal protein for our food.

Alcoholism

TETIA

Piprali

-~

14uti

Jodhpur

Snob

In the light of the above statements, choose the most appropriate answer from the ophom given below.

(Ay  Statement (I) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) 2nd Statement (II) are correct.

(C)  BothStatement (I) and Statement (II) are incorrect.

(D)  Statement () is correct but Statement (II) is incorrect.

(E) Questionnotattempted
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Ls \Vhévi\hs boen chosen as the recipient of “418 Lokmanya Tilak Award’?
i (A) Narendra Modi ®» Dk Siwan ) Dr Mayitsamy Annadurat
=) f.A.!jV{_j;AmitSlmh ()  Quuestionnot attempted ‘ '
A e e R A fore R g ?
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(F)  Questionnot attempted

scattering of light
diffraction of light
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. ?
22. ‘Critical Minerals Summit, 2024" was held in which of the following places ! @, * St
(A)  Bhopal (B)  New Delhi d
(D)  Dhanbad ()  Question notattempte 3
fretferfiaa 3 fg wam W FHfeRa frra afer, 2024 i 8 ¢
(&) @ T fae © W
D) R () Fgafa
annum in the number

23.  The ratio of the number of boys and girlsinaschoolis 5:6. If the percentage Incr ease per
ratio after one year ?

of boys and girls be 20% and 30% respectively, what will be the new L ; _ e
U Tt 1 Tgh i ergiRdl i HEA ST 5 : 6%|qﬁa@3ﬂimﬁmnm: 20% 3T 30%

1 =i gfig Bt 8, @1 U ad o IR T S 1 E?
A 11:17 - ® 10:11 © 10:13
) 11:13 () Questionnotattempted/ AR T snt’

24.  Which of the following trade policies introduced MEIS- Merchandise Export from India Schemeg?1 ; E—Q;

(A)  Foreign Trade Policy, 2021-2024 (B) Foreign Trade Policy, 2004-2009 2o 13°
(©)  Foreign Trade Policy, 1991 (D) Foreign Trade Policy, 2015-2020

(E)  Question notattempted

Freiferfian 3 f =TOR R 3 MEIS - 970 @ o firafa Ao T 1 2

(A) fodw omR Af, 20212024 - (B) faRw AR =fifd, 2004-2009
© fadw =R ifd, 1991 (D) faswr =R =ifd, 2015-2020
(B) ergaRa o
25.  Following is the full form of SLR in Indian Financial System is:
(A) Statutory Liquidity Ratio (B) StateLiquidity Rate (C) StateLenientRate
(D) Statutory Low Ratio ()  Questionnotattempted
ayet fora womedt & Fret 3 @ U9 el 3R (SLR) H T IR :
(A) ST TR ST (B) T Tl G © TSR IR
D) aufe =7 ST () STIAd T
26. Compute the: Binary Code addition (BCD)
= e TFEYE (BCD) TS &t 0T & :
2+3=__2__. .
(a) 1111 (B) 0000 © o101
(D) 1000 (E)  Question notattempted /TAd T&
27.  Which of the following was NOT the immediate major challenge of Independent India ?
(A) Adopted representative democracy
@) To accelerate the rate of industrial development.
(© Shapea nation that was united
(D) Development of the society
()  Question notattempted
frefefaa H |, T 97 #, F Y AeIferes T A T o 2
®) iR T # & as HE
@ @-waﬁmﬁﬁm%wﬁﬁm@nm
o T
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. ‘;ﬁhakhapattanam Industrial Region is

ﬂg PELE ; fam
| o the MOStAPPrOpriate opt; ous for which type of i ies ?
v {h"f;? building Option from below) type of industries .

w agineerin ®)  IronStee) .
E“ ° (@) Automobile

B Susinn notattempted

IS 83 5y
M W*W%WW%?

; a‘é‘ﬁ Tt {
}}d B) dEIEm © ILIEIE
o 5 E) JFEEwH
¥ “w“’a;ﬁ‘e stabt: of Rajasthan completely unified ?
S i (B)  1November,1956 - (©  30November,1957

~ 1Novembe '
‘ i T, 1958 (E)  Question notattempted
TEeY, 1959 B 1 e, 1956 ‘ © 30 TG, 1957
e, 1958 (B FEATH

91‘<7is: =< = B O
: S 6t g\—\—%\ P -
>'| ST, = 'R RS’ m%eﬁ D
'$9<7 I HH &M : Y™ fs;\: S
| ® 31 “e~ 33

(§3) Qu;:shon notattempted/ a@aﬁa T

and drawn into a wire of diameter 4 mm. The length of the wireis:

,mm?}ﬁr%lsﬁﬁmm@4fqﬁm%mﬁ@’mm% IR F A= Bt

© 4266

Wl
B
g

123 — cm - (B) 066 —
i 3 A7

(E) Question not attempted/ SRR W

is not located near Ajmer ?

B) Taragarh Fort (O  Daulat Bagh

of the following tourist centre

ulab Bagh |
j v Sagar (B) Qtnégtion not attempted
o st 1y i e o T €7

W 25 @ EEe © <o
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algun Shukla Navmiin 1542 AD in Dholidub

3 -
3. Givenbelow are two statements:
Statement (1) : Dadudayal (Kabir of Rajasthan) was born onPh
illage of Alwar. . .
villager Jiva, Jagat and Moksha in a simple language

Statement (II) : Dadu gave his teachings on Brahma,

Sadhukkadi). A : i
(Sadhukkad) answer from the options given below.

In the light of the above sta tements, choose the most appropri-ﬂe
(A)  Statement (1) is incorrect but Statement (II) is correct.

(B)  Both Statement (I) and Statement (II) are correct.
(O Both Statement (I) and Statement (II) are incorrect.
(D)  Statement (I) is correct but Statement (1I) is incorrect.

(E)  Question notattempted

A < e e MR
TET(D): RS (TR F HeR) H T m%@aﬁﬁ/m*ﬁaﬁmmoﬁwwmﬁ

SR
HAT (1) : ﬁﬁww(mwé)ﬁa@,sﬁa,waﬁtﬁawmmml
S et 3 one H, A g g ferme § R el ST SR T
(A) W(I)m%.émm(um'é%r
@By e (1) SR we (1) 31§ T
©  wher (1) SR wer (11) T e € |
(D) e (1) T &, S e (1) T ¥

(F) HAIRaTH

34. Inthe givenquestiona statement foll

owed by two conclusions numbered Iand I are given. You have to assume
everything in the statement to be true, then consider the two ¢

onclusions together and decide which of them

logically follows.
Statement: India’s economy is depending mainly on forests.
Conclusions: ()  India wants only maintenance of forests to improve economic conditions.

(M)  Treesshould be preserved to improve Indian economy.
In the light of the above statements, choose the correct answer from the options given below.

(A) Ifonly conclusion (IT) follows (B)  Ifboth (I) and (II) follow
(©)  Ifneither (I)nor (11) follows (D) Ifonly conclusion (I) follows

(E)  Questionnot attempted
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states. It is invoked

emergency is dCClarLd
! d due to the faj th
the failure of the constitutional machinery in the

‘ e 360
(®) © Article352

Article 350

e aﬁmmﬁm (E) QUO&honnotatt;_-mpmd
h & I ATEHA NPy S
wiftra o s & g o fa AR AT G

360
. (B) % 350 (C— A% 352
‘ () ATaEwE

sposited Rs. 8
P ,000 at simple interest which amounted to Rs. 9,200 after 3 years. Had the annual rate of

gl
stbeen 3% more, how much amount he would have got ?
. 10,000
s. 1 2 B) Rs.9900 © Rs-9800
5. 9,920
Rs. 99 (E)  Questionnotattempted

i P - =
sommmwmmmmmﬁaaﬁmgzmmamu i it =T 3% S Gl

0,000 B) % 9,900 © % 9800
020 B IR T c/"'( - g:{v:)l g‘%
St 5
f the following is not a bitwise operator ? ;%5£€£” *“%-
o - i e AT 82 p nee =L
o «

E) Queshon notattempted/ A 597 8@{/8 %{v/\
| e

t unit of data in computer is

@) Nibble o KB
te (B Questionnot attempted
s 7w I T % ‘ @
®) ( (KB) ” a2
® = G (w
ni ‘osh Hydel Project is Joint Venture petween ————— /’bqj-
Ind;a and Bhutan (®) India and Nepal (© India and China
epal and Bhutan (E) Question not attempted
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R Maach Ui wish Listlk
Lisz<1 List-11
Memosiak Place
W Jaswart Sngh's Thada @  Jasalmer
¥ Odamsof Relersand Faliwals (@ Bundi
€ Ohaurast Khambon KiChbhatr (i)  Alwar
W RahiGumdad @) Jodhpur
™= TR

QD TSRS

& TS O ST = i i‘ﬁ
Q SSedsssL— @H SR

QR TR ) [ER
Chovse the most appropriate answer from the options given below:
L IITR I KT
A @-®0-G.0-.@-a)
® @-Q0O0-O-®@-0
O  @-0.0-G-t).@-®
LB @M 0-0.0-@@-@
B Quessidnnotaimpted/ STEG IS

TR Thee e
T N W A

I1. Ghven hiow are two siatements:
Seatement ()2 Rajesthan gets rainfall from the Monsoon of Bay of Bengal and Arabian Sea.
Seaternent (T): Bay of Bengal Monscon pass through the Rajasthan without giving much rainfall to it because
dﬂekmmpadmxﬁona\'aihﬂemﬂnepmgeoﬁt
I the Rght of the above statements, choose the most appropriate answer from the options given below.
& Seaterment (1) is incorrect but Statement () i correct.
) &w&&xtm&tmmdﬁzmmmﬂmammnect
Q Both Statement (T} and Statement (1) are incorrect.
e Statesment (1) is correct but Statement (1) & incorrect.
& Queestion notattemptad
%%%Wf‘x"\'"’if:
= ST RFETRET n%mﬁzﬁis‘:@:%: \[‘
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~ong the following i
among g is the member of the Inter State Council and the Governing Council of Niti Aayog,

who
i
jspeaker of Lok Sabha (B) President (©  Chief Minister of States
f Lo ) ()  Question notattempted
e 3 3 T SR T R T i ST R v o (T ) 2 = v T §2
jp T T, ~@B T ST g TEsET
councl of Ministers of Indian Union is collectively responsible to the::
‘) LokSabha (B) President (©  PrimeMinister
_ Rajya Sabha () Questionnot attempted
A 3 T o ¥ T ST w9 S e v See 8 €7
® T G
® ST

ithe following is not the alignment of the paragraph_inMS—word ?

{A} Before Alignments ®) Left Alignment (@ Right Alignment
® QuesﬁOnnotattempted
EE] ﬁ?m@.@.-aéﬁi?mﬁanﬁaﬁ?ﬁ%?
Rl @ T Q & SEm
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e T H WEE AW s H
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‘ ﬁﬁmost appmpriate preposition from below in the sentence:
: ems these days- ‘
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the rights of the citizens and in pr 0“‘_0“0“ Of justie,
f legislature and executive is called :
(©  Judicial Review

48. The assertive role played by the judiciary in the protection. of
in society by intervening in areas falling within the domal‘n.o
(A)  Original Jurisdiction (B)  Judicial Act1v15tm e
D) Appellate Jurisdiction (E)  Question notattem . i & w
* s . ; FUIfeAsE & QATUHR H 8dy
AT g AR 26 ST S e Fryer yfir ST T : 3
ST W § =g & HaH @i a1 6el S ¢ 2
A)  IRfye afymfa B) =fge GfmEaaEs
Q)" sritelty st €)  IFarE e

49. Who was the Chairman of the committee on financial systems in I
Assets Reconstruction Fund (ARF) ? '
(A)  Sh.M.Narsimha (B)  Dr.Manmohan Singh ©
(D)  Sh. Pranab Mukherjee (E)  Questionnotattempted

A ¥ ot woneht w s Gl 6 sreae @i 8, frer aRerd % QAR w9 (TARTE.) A F
e 1 ot ? |
(A)  Hium. wiaw @) < wed fig © 4. fagam

(D) 4. yoE s () STERawH

Read the passage and answer the questions that follow :

In an often-overwhelming world, staying sane means learning to remember and allowing to forget. Phones
wallets, sunglasses, keys, a box of cornflakes, even a ukulele and, once, a gate valve. These are among the things tha
passengers have forgotten in cabs in 2023, according to Uber India’s annual ‘Lost and Found Index’. Further insight
suggest that Delhi is the most forgetful city in India, that people are most prone to absentmindedness in the evening -fron
7 pm to 9 pm - and that the festive days around Diwali tend to make people more distracted than any other time of th:
year. No doubt this information is amusing, and even useful - one could, for example, learn to be vigilant about one"
belongings during the weary, post-work cab ride home. But the real lesson here is that forgetfulness is inevitable.

In Remember : The Science of Memory and the Art of Forgetting, the American neuroscientist Lisa Genova explains tha
“a finely orchestrated balancing act between data storage and data disposal” is key to a well-functioning memon
system. In other words, as much as remembering - to turn off the gas, your child’s smile when you return from work o
that the deadline for filing tax returns is close - is necessary, so is forgetting - your score in Class X boards, the heartbreal
of an early love or the time a colleague slighted you. In their own way, both help maintain sanity inan often-overwhelmin;
world. Consider the condition of the titular character in Jorge Luis Borges’s story ‘Funes the Memorious’ whose prodigiou
memory forced him to note the progress of decay, corruption, fatigue and death and doomed him to be “the solitary anc
lucid spectator of... an intolerably precise world”. }

50.  According to Lisa Genova, remembering and forgetting data from your memory is necessary because :

(A)  itcanmake the person happy and contented (B)  forgetfulness in inevitable

(©)  this can make the person insane (D) ithelps maintain s anity

(E)  Question notattempted

©  =afge A

ndia, which recommended the setting up

Sh. P. Chidambaram

51. The mainidea in the write-up is :
(A) Making us learn that forgetfulness is inevitable.
(B)  Urging us to remember the things
(C)  Allowing us to be forgetful
(D)  Asking us to be more vigilant
()  Questionnotattempted

The key toa well-functioning memory systemis

. @A) to note the progress of decay, fatigue and death,

B) very importanttosurvive in an overwhelming world.

) palancing data storage and data disposal.

gD) reminding t0 pay taxes, and forget heartbreaks.
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Wog scific ( ague .
(1)) Pe ()  Questio, i
rofaumsom( S Prese ‘nolaumnpwd
i :"fﬂ A fiﬁ?ﬁ 3]” entin human beings are -
| ; q""“ﬁ’mﬁ (fermy) o
4
W 3 B 23 © 22
L] (E)  Question not ST 971
pngonG Tso and Tso Morirj lakes are formed attempted/ 07 .
i parjiling and Sikkim 11 limalayas 1 Which part of Himalayan Range ? '~

i .

Himachal and Uttarakhang ) nunachal Hlimélayas

0 Que suon not dttempte 1 Himalayas (D)  Kashmir Himalayas @V;}
2/

(ﬂ
o aﬁﬁm&mﬁﬁﬁ"qm .

(B) swTHA fedre™
o e SR SwrdE ferrer By v femred
n :ﬂgi{iiﬂ o
~6 m Darrah Game Sanctuary was converted as
) ‘Mukundra National Park (B)  Keoladeo “Ghana” National Park
0 Desert National Park (D)  Sariska National Park
B “_’Queshon notattempted .
% w9 ¥ ufafda fma

(B) mﬁa“m"mw
(D) it TeEa
§ AT C

E\‘a@tmuﬁq%m%? s

: b T @ wEm @ Ff @ R

g feeredt A 4 Tl S S A I

St (1), () @) ® @), 0) 3 ) ©  F (@), (0) R (e)
Fe (c), (d) 3T (e) (B)’ SRR

"tf\e odd one out.

w1 o i el A e e
()
/Ny e N
(& OmmO
\‘L’ff | st

()  Question not attempted / 3TARE 9T
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T =

S Aniron rod of wnifors thickeess of logth X6 metee weighs 4R How wach will e the weight of SEomrags
the same thickness and cach having ogth of 8 4wy >
W g ® B Q@ kg
© A & Questionuet atteenpend o oy
UH R RS o) ot v P wiag Ao DR R w WK 24 ’tﬁ‘.ﬁt\% iR e R R R R TR T
W, R v wy Wt e s | )
@ s fem o sfem O wfE=m
© 23 fewm ®  wgeRewE 2
60,

Choose the most appropriate articles for the senterne giver below :

inei . . . : e T T z
fot muneisnot _typicalstory. Inmystory  Scobmanigeeerees,  Inshoons Togical and
Englishman is romantic. Ok, ifit's___ faskastic story T Bstery witd ploaxare.

@ . theanawa W~ aca an awd,
Q aithethethe_ O athe thethesa,_

®  Questionnotattempted

61.  The total marks obtained by a student in Maths, Science, Sovial Science and English topether is 120 more S S
marks obtained by him in Science and Maths, What is the average marks obzined by him i Sociel Scenoes and
English together ?

TR v, foem, e e ok st TETNRTESS R irwsESInss

4

@ 50 ® 73 O o YRSISFE:
® 60 B Questionnot attempted /STERE 5=

62.  Assets Reconstruction Fund (ARE) was set up for the purpose of
{Choose the most appropriate option from below)
(A) Toassist Reserve Bank of India on managing Commercial Banks
(B) Totakeover the bad and doubtful debts of Natiorabsed Banks and Development Fimenos ErstSaines
(O  Tofinance the Comumercial Banks on low rate
(D) To finance the Development Finance Institutions on low rates
(E) Questionnotattempted
wfdafa gfinia B (AR R ®owr _ Hrud e
(Frer 7§ T SO e )
@) ifefra T & w9 ¥ uRds fod I 9t wewe w0 ¥ fag
@ T dw O Rrer R Henl & T o SRR 9w fe T @ S i
© pforfas FH1 B FR T W v w9
Wmmmﬁﬁﬁmrﬁwmms@%m

(E)agaﬁaﬂﬁ
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mmﬁ“' MLRLLETTTTTPY
: En AALLRTITITE
W‘w ““"m”l’““ll(:y)p RN ETIY ,
Attty W ATE Epr et el in which
l«“ﬂ:t‘x‘ul‘ l.“‘.?”' PR g)) llh"|l:"t 1
m“,m RTTREHTR ITY| i Pl g “-:’l:rﬂllm
MRLE L L8

-mmul‘\'n!wm T TYITeTI
fip EUITENE I ey ¥ .:;: n:..':»"l:":\' NI o 124)
T ETUTITITRYT,
| ) () o0 {41 Al an nulul’l’nlllnnplinnnuiwmlmluwz
Ay (e only ‘H{ c(""m'“")nnly () (o) (d)omly
S ERTGRILY VOO () “I““’”-’J{;Wnllnnllnl Al plod
fitie 44§ L
URIGHNURNEEE TR Y
A MRV Frasgtvin aqig
\n;?_tfm," R Ul g2 B
U il mm Y U 0h A B
LI PR T wrerdy svageren it oy
() () nl’lf_(.t) (1) et () it () () At (c) it (d)
(1) () A0 (1) il v
W ale o atalemontn
b (1)1 D Ihimran Ambedkar led the Mahad Satyagraha in March 1027 to challenge the regressive

: Cumtonnn of the cante Hlindus,
(1! D, Arbedbar eatablighed the Balishkeit HHtkaring Gabha in 1924 10 highlight the difficulties

annd etevances of the dalits hefore the government,
Lol the abiove statements, choose the most appropriate answ
forent (1) B incorect but Statement (1) ds carrect,
loth Statement (1) and Htatement (1) arecarrect,
I Statement (1) and Htatement (1) are incorrect,
aterment (1) fconrect bul Statemant (1) ncorrect,
féﬁlh\u potattempled

CURILE ' e BN o “
i v anAEaC A e 1927 i fibg sl il wfermef) wenvsit a5 g e e w1 Ay
faen ) e o ohe el W L
ol apAgd 11024 W e A o el w1 IS S TR wil w1 g el g afevpd

” o s f - Y

fictentfavi) v e e a L e
Wl e B, i fa g feraed iy gy B S
(1) et ¥, Al wwert (1) el ¥
(1) ol et () el adt ¥
(1) sheaer () Al e #1
(1) e &, et T (1) T #

fra uw A
A i an apro<based b
fthe tollowing i ot ANARTS ‘(ll) Rubber Industry

ile Industry R (_)_l,.‘,.|iq»||nuln!lmnp!ml

{ \"E;‘t(\‘;;(‘::ﬁ::fmﬁll R RN Hoagpln sl A W syenfe i B 7
LAk *:eht; | AT
e :éeh'n ay  orpfaed

o hattery of Y i lao connested,

1% B,

:ﬁ..—-wv:

AW Pyl s oy A Al o oy ) & el feaf 1 fipafortiad

ar from the options given below,

i ; l“ n ?

W RUE et

15 P.T.O.



65,

70.

the Constituent Assembly of India?

Who among the following ‘Objects jons’ in
2mong the following moved the “Objective Resolutions (© Rajendra Prasad

) Jawahar Lal Nehru (B) BN.Rao

O} BR Ambedier (] Questonnot attempted

Frivies 3 s ol e w9 st See’ W 617

Q). S aE R ® TEE © TEITER
"CAZRY institute is mainly involved in research of il

(&) _ Mining of Minerals

(B) " Sustainable farming systems in arid ecosystem

(O Animal Husbandry in Desert

(D)  Land reforms

(®)  Question notattempted

Feieras 3 S 59 99 § ‘CAZRr 999F e =9 9§ Wi §2

(A) wEsi=EE

(B) IT=Tid=amiaxd E?:!::%ﬁim =

© Ti==d RIS

©) - 4¥ R

Which of the following dams of Rajasthan produces Hydroelectric power ?

(A) ~ Swaroop Sagar Dam (B) Mahi Bajaj Sagar Dam (© MejaDam
(D) JawaiDam (E) Questionnotattempted

T = Trefarad 3 4 519 9 9 Safagd v 51 99 S 82

(A) T=EIIFREH (B) @ TSGR Ay © Hsnay
(D) FEAU_~ () FIEAYH

Who was called the Father of Indian Renaissance ?

(A) KeshabChandraSen (B) Debendra Nath Tagore (©) Ravindra Nath Tagore
(D) RajaRam Mohan Roy ()  Question notattempted

SR AT I R e T2

@) FEEEE B) &= T4 R © iz T ¥R
@) T T HEA T €)  TART T

From the options below, choose the most appropriate meaning of the underlined idiom in the

[ ail 7 feelings “ down in the dumps ” is a temporary phase.

(A) - Feeling very sad (B)  Poverty (©  Malnutrition
(b) - Feeling elat = (E)  Question notattempted
16
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soatel® AR IWO Statompgy
SETLL R N N

LI At rawel
e HOCK s mostly used in the

Nutrieny tor ¢y :
LTOps, traits and flowers.

\ \ manufacture of superphosphate which is utilized as a
QIL\N“WN (“) \ \ hn“‘\h«\l\‘

rook h 1
N As been locate : )
\wn\m'l\ Wall, all the Ar ::'hl;‘“lh dat Maton, Karbaria-Ka-Gurha, Kanpur, Dakan Kotra and
atvas Avavallitormation of the Pre-Cambrian age near Udaipur and Jaisalmer

selightot theabove statements « ke
@ ~statement s innu\u:'lt ll‘\‘ut:lt“ —
A et Statement (1) ang Statey
o oth Statement (1) ang State
i Q ;sgmmem (l) N correct byt §
@ .Q“g\eti(\l\ notattempted
puEa R
el TR b oo | e, el 3t e
NN ‘ % Frmtor 3 sl i et €, it o e, e S e &
My BN e Yok s
tgt_); “«mam-ﬁ f:eh. RIS, TR, S e sy i eifedt 1 feerm 13 mi a5 o
s o ‘Jﬂﬁ & Wi T T Y syee e §
U SR N, fag o fereredl A Wy e s |
W (1) T Al wert (1) e )
() A e (1) QA ¥
;.. (1) ol e (1) A e )
) BUA (1) N R A e (1) e R
i e

maostappropriate answer from the options given below.
atement (1) is correct

ment (1) are correct,
ment (1) ave incorrect,
tatement (1) is incorrect,

1y feed includes:

X ll\e most appropriate option from below)

neentrates and maize only (B)  Roughage and concentrates only
and barley only (D) Maize, barley, pearl-millet ete.

tion not attempted

g wnfee € T

TR FuER {awed )
LRI ERIR Y ) e Hi i TR = P
e ofv S fisaT (D) T, i, SRR gt

iﬁdﬁ\l\ state recorded the highest wind capacity during 2022-237

the most appropriate option from below)
(15) Karnata ka (L—) (-;llidr;\t

() Questionnot attempted

ajasthan g
e e et i IEAn W (feie fafafe) oot @ g 2

R ey waggaat et 4

) e G o
() aypita 9l

N A
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7, Which i
15 ll\(‘ ll LY n .
(A)  Arctic (;:tj\: ocean in the world ?
(D) Atlantic Ocean (B)  Pacific Ocean 1 © IndianQees
ava T aun e i Yiast Sttompte
favg o way CEART taloi 3 ) () Questionnot attemptec
(A) T HemmR '
’ . o ‘ B) —9YIe ;
(D) sreEnies HErEmR ( ‘) AN Wﬂ?ﬂ‘ﬂi © fes werrm
T (B)  ovuf 7
5. gt @ T A w0
@ i —_
) FHAR ®)  FETH _9 Ff f
” : (E)  oTgufa e
70.  Co-founder of No i ~
- n- Aligne 5
@A)  C.Rajgopalach {,md Movement (NAM) was .
b alachari —
(D)  Sardar Patel (B)  Jawahar Lal Nehru (C) Mahatma Gandhi
TeRTs STRIEE (NAM) ¥ -4 g) Question not attempted
(A) W USETETET - : 5
D) TER Y - (BT S ©
= E) S T
77. Which country became the world’s first country t ke ab
o e | a N (o] aK i i 1 1
E&;loosltlll;g most appropriate option from belo}w,v) AR or sonsfitfionatel
lalaysia
(D) Holand ((g; gll:;&n ot att i (©  France
i o 3 st C .__r_10 attempte
A RERURES ﬂEltgjmﬁawm@gm@w?
() HAfE .. G
o e i I (0 © W
-!8' 4 IOy . 2 g . i
7 Which of t}m following banks is known as Bankers Bank in India ?
(A) Indian Overseas Bank (B) PunjabN
©) Re S Bars g unjab National Bank
LSC‘;V.; ank of India (F)  Questionnotattempted (©  State Bank of India
frmfafad 8 Q frg S # aa 3 dhd o
i 1 g ﬁfwﬁ%%m@mm%?
¥ A ®) TS A S
@) v fd a9 € oeRd © WA R EE
T
79.  The Rakha Copper Mines are located in 5
2[{;; IC\;lg'dll\ya Pradesh (B) Rajasthan
Isha (E)  Questionnotatt (©)  Jharkhand
T G e e e &7 e :
@A) TATN B) TS
@) s, ) TR v © TREE
§0. Which of the following Constitutional Amendments ‘n Xe .
Raj institutions in India ? Bave constitutional status and pr ]
(A 75th ® 72 s and protection to the Pancha)
o 74th (£) Question not atte Q) 73rd
frefafaa 74 fip A T A i e T 'qp;]:f;p_t;}( i?ré*? : :
o v e bl Hayfs
@ 7 ®): . 728 T it sfie gean = =2
) r4ql 1) 3ﬂﬂf’ﬂ PR \Jg 734l
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]o\\’lﬂg queshon ea
f"l ch'set of numbers follows a similar pattern, find the missing number (7).

F@HWW Ush 91 %H &Fl ﬂmm? -d—a—dqmp)?ﬁml

© 11
| (9) 19 (E) Quesuon not attempted/\‘f*Fi"Tﬁ?{W':I
:.'?ﬁgammﬁ“‘f“ﬁmmaa% ?

g ® fem o T
® aﬂaﬁam
(B) Haematite (© Siderite
(E)  Question notattempted
A T Y .o 1 oA 35w 3 o o 8 ?
® © fem=
€ FEETH
the current Chairperson of Rajasthan Human nghts Commission ?
ce Ganga Ram Moolchandani ~(B) JusticeN.K.Jain
ce Shri Ram Chandra Singh Jhala (D) Justice Prakash Tatia
tion not attempted =
TR AR ST 1 ST HAE 2
T T e ) T S
st iz e e — (D) T S

llowing trees can help to prevent forest fires in Himalayan region ?

of which of the fo e
se the 1 te option from belo
” e most appropriate op ®  Mahu PR R
B) Question not attempted
T8 Q3 T g4 femerad éﬁﬁaﬁrﬁmﬁﬁﬁﬁmamﬁv
R} ey sugaa faeed 91) }
® © e
@ S
(B) Grecn Revolution (©)  White Revolution
B) Question not attempted
@ @ © vawfad
@ S
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87.

89.

93.

In which year was the High Court of Rajasthan established ?

© 1919
(A) 1951 (B) 1918 p———
% ST
(D) 1950 (E)  Question not attempted/ 1
Choose the most appropriate indirect form of the given sentence

“Wait for me at the'bridg”, said Rahim,
(A)  Rahim requested her to keep waiting for him at the bridge.

(B) him told her to wait for him at the bridge.
h@)l;ahim asked.to wait her at the bridge.

(D)  Rahim said that you have to wait for me at the bridge.
(E)  Question notattempted

Which of the following tourist centre is located close to Barmer ? © Arh Fort
A)  Sam Sand Dunes (B)  Kiradu Temples
(4) i
(D)  Natanion ki Haveli (E)  Question notattempted
ﬁmunmmmﬁmxwﬁmz? N
SO PPN = L LU CRERS
(A TEFEWF G ® femdm — ©
(D) = Fi waet (E) ZFEETH
- itv?
Which of the following states has the highest solar power generation capacity ( o T g
(A) Kerala (B)  Rajasthan
(D) Karnataka (E)  Question notattempted
7= 5 4 o w9 § R o 2aarea g T9E st i}
) F @By T Q drerg
©) s € “FeravE
Tea is an indigenous crop of ) % )
(A) India (B) Bntam' L (© China
(D) Srilanka ) (E)  Question notattemp
= fra Zm F v T wma £ 7 € 3 -
—A) W ® F= © ==
) m (E) #Aqd a9
Which of the following input devices allows to input alphanumerijc characters and special characters into
ter ?
czmpuKeymaId (B) Mouse (O  Monitor
ED; Printer (E) Question not attempted
rin P I p 2 g
foreAferfiad 4 & 1 1 592 feares, avisiaTa gt (characters) i fisy T (characters) T 7 §
sRfazmg? ‘
A q3g e
beq/ ATE (B) . % (© FAEX
o iz (E) IFafayes
: face of the moon was :
First humaﬂn to »T/a_lk on the surfa ® Subcagarin .
A) Sunita Williams : {© Neil .—\rmstrong
( Buzz Aldrin (E)  Question notattempted
g 3 A% 9L Fe Al UEel HAd :
e fafea= ® 70 e O e smigm
(A) ooz (F) sraia g
(‘D) '&T.a = 5
20
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" person have held the post of Chairman of

- . NITI Aayog since its formation (till July, 2024) ?

fot ot v rong yz w i 7o €2

® s © 4 L
() Question not attempted / A3 9
the following Bapjq Was originally named as Imperial Bank of India ?
o %k of India ®)  Reserve Baf oHirdia (© State Bank of India
y‘m@,b‘Nahoml Bank (E)  Question not attempted
ﬁam%mqmmsﬁﬁmé‘mméfmm?
Fod 4% AT ey ®) I foad § Lo

by the 7314 constitutional amendment of 1992 ?
® 6 @ 7

3 (E)  Questionnot attempted

T HT, 1992 3 e § Sl e i v

® e © 7
4 ® s
e main function of central processing unit (CPU) In computers ?
0 process data (B) Todisplay data (©  Totransmit data
lostore data (E)  Question notattempted
T2 TR g (CPU) B FE E
21 1 TR AT ®) mmmﬁ F © wei =1 oefyg v
Sl 1 wfed we €) ST@FE
lich month is the festival of Kajli Teej celebrated in Bundi ?
ravana (B)  Phalgun (©  Bhadrapad
tra (E)  Questionnotattempted
¥ roreft e o e 94 6 e o 7
‘ ®) WA Y™ wiewz

most appropriate option for the passive form of the sentence below :
g the church bells as a flood warning

hurch bells are ringing a flood warning.

e church bells were rung as a flood warning.

: >ﬂ00d warning, the church bells have been rung,

€ church bells are rung as a flood warning by them.

on not attempted

21
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T R

A Whatina Spevial Economic Zone ?
(Choose the most appropriate option from belo W)

0 Aunique zone which is subjected to higher taxes and duties.

# Aspecial zone created in the capital of India for cortain entitics.

) Aspecially created area tor those with income of 1 crore and above perannum, te, duties

D Aduty free enclave of deve w territory for the purpose of trade, 80
faritdy

& Questionnotattem ptad

Ry witw Qe sy

(5= 33 v g e )
\\w\?r@%?quﬁw%mm

BT T Y T e ¥ fr s o R O

Q<R L TIE T R SR SR W s R s O R A
D) T OEE I OF O SR, yew ok SR i stea @ Rked 8w s
® SRave "

lopment and is deemed as forei

101 “Golden langur’ is main fauna of which of the following biosphere reserve ?

(A Manas (®)  Simlipal (©  GreatNicobar
(D) NandaDevi ®  Question notattempted
frﬁ“@%%ﬁmmm%mwﬁavﬁmmﬁ '
(EVIR S ® foficus © WefmEr

B =R ®  SEERawe

102 Which of the following state is known as Molasses basin ?

(A} Tripura (8)  Manipur ©  Mizoram
(D) Assam (B)  Question notattempted
e 3 ¥ 9 9 I e SRE S T s m e m e ?
@ &R wB)  WR © el
O & ® SEEEwTH
105. Who was the Chief Commander of the Mughal army in the Battle of Haldighati ?
() KhurramKhan () Hakim Khan © Mehman Singh
(@) ManSingh (B)  Questionnot attempted
TETE F IS W T S S /A9 S 912
@A) TESH ® wiEwEE & Sorne
oy T e (B) ST W
104. Which of the following area did not cover in first stage of Indir, Gandhj Canal L i
@) e il O T
©) Rikaner (E)  Question not attempteg angar

ﬁ@@wm%mwﬁﬁqﬁmﬁﬁﬁm quﬁm)

@ T G, S

o ® aRa W O =gaEmg
o =

22
~ B23




aretwo sty tomye Mty «

3 \]mo ‘ -4 the,
' m fina] i AS an N iMportant centre of political aw akening and socio-economic activity from
{n Iny Otthe Nineteenth centuy ry.
st (112 n s adal
5 \dtmm[ . ‘?\d:\tmm Ajmer - M

arwars participated in the Allahabad session of the Indian

Menty
\emenl s N i}

Statement (1)

*3.%" msmttmt‘nl M ang Statement (In)
5‘ment (1) is correct by Statement

Ouestion not attempteg

Ramt.

1T sttt ST RS et i G- e el 77 0 W 3
T

rchoose the most APPropriate answer from the options given below.

Statement (1) is correct.
and Statemeny (I1) are correct.

are incorrect,

(1) is incorpect.

TISSS, § Wmm%mmﬁmm¢W% T feran
""mn ﬁmmmﬁémmwgﬁl

) .ppix Qs
()  Questionnotattempted/ ST T

ters in cntumference makes 7 revolutions in 6 seconds, then the speed
me
el of the engine of a train, —

Sl 7 ’
YFmE? o . £U o
g Quaﬁtio;ﬁc-)t attempted/ 313;11:@ e}
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108,

109.

110.

111.

112.

113.

The fire ) . rrect option
Fhe first twe figures are rol given options choose the €O

onmark? . o=
] T = g R

) ated 10 a4 certain m 2 the
establish the simil. relale A certain manner, From € 1
shthe similar relation with the third figure to “,p]aa,qu(:‘su

VY, 2 SPEFr 1 Sxforern wr 5y ~nde
" ﬁn A'Trff,.mT v S A o 8\ drahy gt WA T
VT30 207 1) feregsomy w1 sy #ifan

: ?
Q
o ™ 3
|| ¢ 8 [ :
3 ® |/ © ] 3 O

(E)  Question not attempted / Zafr 973

The artificial satellite which is seen at fixed position when viewed from the same location is called :
(A)  Geostationary satellite (B)  Non polar satellite

(©)  Polar satellite (D) Remote sensing satellite

(E)  Question notattempted

e Fom 3z 5 Tt Tam A sae 773 W 23 i frafa (mﬁm)ﬁiaraﬁr%:

© R 3T : (D) 374 HfET (Remote sensing) TTE
States Reorganisation Act was passed in : , —

(A) 1956 (B) 1952 =D © 1953
(D) 1955 (E)  Questionnotattempted

T3 IATTeA At e i g ar? —

By 1956 4 ® 19527% 5 © 19537
D) 1955 H (B) HAIardTH

Integrated Child Development Scheme (ICDS) was started in the year :
TFFa e fawE A (AEELELE.) fra ad & & T &1 ?
(A) 1985 (B) 1970 : ©

, 1975
©) 1980 (E)  Question notattempted / Siafd g5

In how many agro climatic zones, is the state of Rajasthan divided, for the pu

gﬁﬁmﬁ,mﬁmﬁmﬁﬁméﬁfﬁﬁmﬁmmwgy

B) 20 ) =8 s Yer 10

rpose of agriculture ?

o 1 2 (E)  Question notj\t‘tempted / FRRE W
i’ fAfed T g: |
q ) sreEdiME
(A) 3ﬂ“ﬁa e (C) W

o (E)
D) agale

~ B23




e r_

)- T (d)- (iv)
- (i) (B) - (ii), (b) - (), (c) - (i), () - (1v
(w) (d) - (i) D) E:;-E;g),((g)-(i\’)/ (c) - (ii), (d) - (i)

(B) i AR A A Ele S
(D) % for et ads s e 3 ened |

® ¥ “
B AT

gimpses of World History”, book is wntten by i

i (B) Jawahar Lal Nehru (© RajaRam Mohan Roy
(E)- Questionnotattempted
BTFF Tes et oo foeet 1%1@ 22

(B) VAR TeE © T T HEA T
B) ~ Lotus (©  Rose

()  Questionnotattempted

B © T
B) 313?1‘??1'9‘51'
i for the phrase”Fit to drink” :
most suitable word for p(B) L e

(E)  Question notattempted

bl ©
(E) aaal‘zaw
i lant oils :
n ioxi ble and obtained from p
is an antioxidant, fat solu ([;3) a g e i
mi (E) Question notattempted
' aﬁaﬁwﬁéﬂ%sﬂ?wmfwﬁﬂﬁwfwm%
g oA ”
NS

% B P:FO.



123,

124.

126.

127.

Whic . :

(A) hff;he following amendwent act Provided reservation of ceats FOF WOmen, i the Ugban Lot al Bodie
) s M a’th {©) piih

©) 73«

. S
TR U e B Questionnot atle ‘“l_"‘ \ _ h

. T W wieened, R WY B AT W RIRIGIER DR R EIR U EEIERIFIRE situfirEn oo
3 ? 3

Q) 743 B e © o

© 79 (B)  aruita W

In PowerPoint presentation, animation mainly decides, ‘
(Choose the most appropriate option from below)

( A) how the sh des rotate. (“\ how the !‘s‘i\‘(\s «\]\lsw\ L

(©  how theitems in the slide appear, @ haw thetet looks.
()  Questionnotattempted

TaRaiE IR N TR TS W R P wak?

(P 9 R el s frees @)

@A) RS R R DIERSLERN fand
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Which of the following is not a social networking website ?

(A) Hotmail ®  Facebook (©)  Snapchat
(D) X (formerly Twitter) ®  Questionnotatte mpted
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All the aspects of populationare discussed inwhich of the following subject/science ?

(A) Cartography (®)  Ecology ©  Demography
©) Oce anography B Questionnotattempted
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The profit earned after selling an article for Rs. 0580 is same as the loss incurred after selling the same art
Rs. 426. Find the half of the 50% of the cost price, »

(A) Rs. 138.25 (1?) R:. 10;0
D) Rs. 148.25 () Questionnot altempted
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r lnformahOn and " d
programs is called :
. gzc‘ur acy (©) Versatility
“ ' . ~vestion not attempted
Y YN T st AtLCMPE i
"W: ‘fﬁ’ iy mu‘q AFE ) vy, fo <ren 3, A7 FOA 8 -
5 g (E; e o T
A s ,cond half of the English af h A
f i p abe I( ¥ ’e
¥ b‘tdm%{;}gt@r from the Jefy :mgt; r'M’is written in the reverse order, which letter will be sixth to the
ﬂﬁ k'}~~m‘q€qaﬂ'ﬁ¢=‘4 - .’ 5 NP ) )
sl M T T8 517 i e i, o AT, 97 9 0 e 2 7 A0
! pans T uri T
U ((g gu ' Q@ T L q@° 25
datescreated in 1960 were. estion not attempted / A1A1d Wu’ qv T ©
1%0. Haryana and Him i 7;\’2' o
A Maharashtra achal Pradesh (B)  Mah -
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131. Whidhof the following district has highest production of cotton in the state of Rajasthan ?

(A) £ {aiselmer (B) Jhunjh %
g jhunu Bikan
7 (D)JS{!I Ganganagfr ) (E)  Questionnotattempted & N
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132 gég‘bbal Summit on traditional medicine was organised by the World Health Organisation in which state of
W Gujarat (B) Kerala (© Uttar Pradesh
. ﬂ Karnataka (E)  Questionnotattempted
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 Undia’s context full form of CSIR is

Corporate, Social and Industrial Research.
g Council of Scientific and Industrial Research.
= Louncil of Science and Innovative Researc.:h.
uncil of Social and Industry Reproduction.
estion not attempted X
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Choose tl i i
@ most appropriate English word for -
A) Procession_ (B)  Procuration . & =

Proclamati
(D) on (E)  Question not attempted

A candidate who gets 20% marks f rets 12% m¢

than the passing marks. What is the passing mark ? ;ﬂ"ﬁﬂ @ =
20% wmwwmwm%m% AfFT 42% 3FF T4 F aren FA S

ails by 15 marks but another candidate who gets 42% marks §°
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Which of the following is the largest zinc i ine in Raj ?

producing mine in Rajasthan ? .

(A) Kayad Mine ) (B) Rampur A gucha Mine 7:_ (Q Sindesar Khurd Mine
D) JawarMine (E)  Question notattempted @r
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The first Chairman of NITI Aayog was : ’5 v
(A)  Dr.Manmohan Singh (B)  Sh.Narendra Modi (O Sh.Arun]Jaitely
(D)  Sh. Arvind Panagaria E) ‘Question notattempted
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What is the percentage of reservation for women under MNREGA Act, 2005 ?
(Choose the most appropriate option from below)

TR TR 2005, % 989 Afganed & fou smem =1 wfowe feam €2

(f7= # & wad suged fases 99)

(A) 40% (B) 20% Q- 25%
(D) 33% (E)  Question notattempted /37{9Ra ¥57
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Choose the most appropriate word to fill in the blank in the given sentence :
If they __that picture lower, people would be able to see it.

(L et hang ® hung( © _hang
(D) would hang (E) - Question notattempted -

Rhinoceros are found mainly in one of the following National Park /\v ildlife Sanc tuary -

(B)  Kaziranga L :
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142, Whatshould come in the place of question mark(?) in the following alpha-number series ?
FreAfefad AR Sfaren § wwrras fr (7) % v e s mfeg ?
X4Z, TOU, P25P, L49K, ?, D169A.
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143. Whichcity of India hosted 1415 International Olympic Committee Session ?
(A)  Chennai WA ® Del
(D) Kolkata (E)  Question notattempted
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144. A person is facing East. Then he turns 135° in clockwise direction and finally turns 180" m anti<clockwise
direction. In which direction is he facing finally?

(A) North- East (B) West Q
(D) South-East (E) Question notattempted
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145. The movement for a Separate Andhra was called as

South

£
(A) TheRegionof AndhraMovement  (B)  The Vishal Andhra Movement A% A -
4 ~ Y S
(O  The Vishal Movement (D) The Telugu Movement S e
(E) Question not attempted -
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146. Choose the most a ppropriate Hindi translation for the given sentence B g
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Youranger is justified. ’;
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